

Terms and Condition
Ship to Comments:

Payment Te N/A	erms: Freight Terms: N/A	Ship Via: N/A	PCC: E	PO Date: 05/15/2025	PO End	Date:	PO Method: DG	Dispatch: Dispatch Via Prin	Rev Dt:	
PLEASE NO	TE: ADDITIONAL TERM	S AND CONDIT	IONS MA	Y BE LISTED	AT THE END	OF THE	PURCHASE OF			
Vendor:	BULLCHASE INC 3000 POLAR LN STE 70 CEDAR PARK TX 78613 United States				Sh	ip To:	48 ST AL	Texas Workforce Commission 4800 N LAMAR BLVD STE 330 AUSTIN TX 78756 United States		
					Bil	ll To:	AF	PO@twc.texas.gov	or	
Vendor ID:	1263718834 006						10 RM	xas Workforce Comn 1 E 15TH ST 1 470		
Purchaser: Phone:	Michael Kagan (737) 400-5664						-	ISTIN TX 78778-000 ited States	1	
Fax: Email:	michael.kagan@twc.texa	is.gov					тν	/C Prefers Electron	ic Submission	
order. TWC Conta E-mail: mic Vendor Con Name: Bull Tel: 888-55 E-mail: sen VIN: 12637	chase 58-2855 vice@bullchase.com '18834	DV								
Internal PO Change oro needs dicta	bices via email to APPO@). ders will be allowed only if ate changes. All changes n a Purchase Order Chang	unforeseen cond	litions aris	e such as, but jinal work. No v	not limited to erbal change	, increasir orders w	ng or decreasing	quantities or if the d	epartment	
PO 25-000 Email to Ve PO 25-000 PO 25-000 PO 25-000 PO 25-000 PO 25-000 PU 25-000	a Purchase Order Chang 3269 Divestment Statue endor 5-15-25 3269 PCC E Checklist 3269 PR Requisition 3269 PR Approval 3269 Quote Drder 25-0003269 3269 Vendor Compliance		ISSUED Dy	ruichasing H	Services					

Signature on File



Procurement and Contracts Business Unit # 320AD Purchase Order # 25-0003269

1-1	Line Description: Open-Deck Wood General Purpose Dolly 1000 lb	PCA: 13060	Class/Item: 560/63	Quantity: 2.0000	UOM: EA	Unit Price: \$61.01000	Extended Amt: \$122.02	Due Date: 05/15/2025
					<u>ReqID:</u> 000005		Schedule Total	\$122.02
						Item T	otal for Line # 1	\$122.02
Line-Sch: 2-1	Line Description: Kneeling Pad 14 in x 21 in 1 in Thick	PCA: 13060	Class/Item: 515/59	Quantity: 2.0000	UOM: EA	Unit Price: \$32.30000	Extended Amt: \$64.60	Due Date: 05/15/2025
					<u>ReqID:</u> 0000051663		Schedule Total	\$64.60
						Item T	otal for Line # 2	\$64.60
Line-Sch: 3-1	Line Description: General Purpose	PCA: 13060	Class/Item: 445/06	Quantity: 1.0000	UOM: EA	Unit Price: \$47.20000	Extended Amt: \$47.20	Due Date:
	Attachment Set					•	• ··· •	05/15/2025
					<u>ReqID:</u> 000005		Schedule Total	\$47.20
						Item T	otal for Line # 3	\$47.20
Line-Sch: 4-1	Line Description: Cordless Rotary Tool 30000 RPM Max	PCA: 13060	Class/Item: 445/26	Quantity: 1.0000	UOM: EA	Unit Price: \$184.20000	Extended Amt: \$184.20	Due Date: 05/15/2025
							Schedule Total	\$184.20
					<u>ReqID:</u> 000005		Schedule Total	\$184.20
						1663	Schedule Total	\$184.20 \$184.20
	Line Description: Security Torx Key Set	PCA: 13060	Class/Item: 600/70	Quantity: 1.0000		1663		\$184.20 Due Date:
Line-Sch : 5-1					UOM:	I663 Item T Unit Price:	Total for Line # 4 Extended Amt: \$83.49	\$184.20 Due Date: 05/15/2025
	Security Torx Key Set				UOM:	Item T Unit Price: \$83.49000	otal for Line # 4	\$184.20 Due Date:



Procurement and Contracts Business Unit # 320AD Purchase Order # 25-0003269

Line-Sch: 6-1	Line Description: Thermal Camera TG165-X	PCA: 13060	Class/Item: 655/40	Quantity: 1.0000	UOM: EA	Unit Price: \$512.08000	Extended Amt: \$512.08	Due Date:
0-1		13000	033/40	1.0000	EA	φ 312.00000	φ312.00 	05/15/2025
					<u>ReqID</u>		Schedule Total	\$512.08
					0000051663			
						Item T	Total for Line # 6	\$512.08
Line-Sch: 7-1	Line Description: Torpedo Level Level	PCA: 13060	Class/Item: 306/50	Quantity: 2.0000	UOM: Ea	Unit Price: \$19.53000	Extended Amt: \$39.06	Due Date:
	Plumb 45 Angle							05/15/2025
					<u>ReqID</u>		Schedule Total	\$39.06
					0000051663			
						Item T	Total for Line # 7	\$39.06
Line-Sch: 8-1	Line Description: Fluid Evacuator All Fluids	PCA: 13060	Class/Item: 405/51	Quantity: 1.0000	UOM: EA	Unit Price: \$124.95000	Extended Amt: \$124.95	Due Date:
	24 in							05/15/2025
					ReqID		Schedule Total	\$124.95
					0000051663			
						Item T	Total for Line # 8	\$124.95
Line-Sch: 9-1	Line Description: Stepladder 6 ft Ladder Size	PCA: 13060	Class/Item: 425/77	Quantity: 2.0000	UOM: EA	Unit Price: \$156.02000	Extended Amt: \$312.04	Due Date:
							- · · · - · · -	05/15/2025
					<u>ReqID</u>		Schedule Total	\$312.04
					00000	51663		
						Item T	Total for Line # 9	\$312.04
Line-Sch: 10-1	Line Description: Automatic Center Punch Round 5/8 in	PCA: 13060	Class/Item: 605/67	Quantity: 2.0000	UOM: EA	Unit Price: \$41.50000	Extended Amt: \$83.00	Due Date:
							- · · · - ·	05/15/2025
					<u>ReqID</u> 00000		Schedule Total	\$83.00
							otal for Line # 10	too oo
						Item To	\$83.00	



Total PO Amount

\$1,572.64

All Shipments, Shipping papers, invoices and correspondence must be identified with our Purchase Order Number. Over shipments will not be accepted unless authorized by Purchaser prior to Shipment.

IMPORTANT CONDITIONS OF ORDER

This will be your authority to deliver, in accordance with instructions above and the terms of any existing contract agreement, accepted informal bid or quotation, the articles or services listed below. Containers, invoices and correspondence relative to this order must bear the purchase order number. Unless otherwise stipulated, freight charges are included in the unit price. If we previously agreed to pay transportation charges, shipments are to be made prepaid FOB destination and charges added to the invoice.

* PAYMENT cannot be made until ALL items on this order are received, inspected and accepted unless we previously agreed to a partial payment.

* ALL Invoices MUST match this PO by Line Number, Description, Quantity, Amount and include Delivery Date for Prompt Payment.

* Purchase subject to TWC Terms and Conditions (Attachment I).

The State of Texas is exempt from all Federal Excise Taxes.

Tax Exempt ID -742764775.

STATE and CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Texas Tax Code, Section 151.309(4), for purchase of tangible personal property described on this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.